Chapter 1: Microcomputing Fundamentals


1)	The microprocessor uses the available system RAM to _____. 


a)	store information that it is working on


b)	process programs and data


c)	store the contents of its internal registers while working on program instructions


d)	hold information loaded from the disk drives


2)	The "brains" of any microcomputer system is the _____.


a)	Coprocessor


b)	Bus Controller Unit (BCU)


c)	Arithmetic Logic Unit (ALU)


d)	Central Processing Unit (CPU)


3)	Another name for a CRT is _____.


a)	a digital television


b)	a monitor


c)	a color radiant tele-viewer


d)	a cathode ray transmitter


4)	The largest quantity that can be expressed using a three-position jumper is _____.


a)	1


b)	2


c)	4


d)	7


5)	Which type of data access is fastest?


a)	RAM


b)	ROM


c)	Disk


d)	CD


6)	RAM memory is volatile.


a)	True


b)	False


7)	The binary number 100 base2 is equal to a decimal value of _____.


a)	1


b)	2


c)	4


d)	8


8)	Each device in a PC that is capable of interrupting the system, has a unique IRQ number.


a)	True


b)	False


9)	The POST program can be found in _____.


a)	the BIOS chips


b)	the DOS disk


c)	the Windows program


d)	the CMOS RAM chip


10)	A proper power supply connection in a desktop or tower PC results in _____.


a)	the red wires of P8 and P9 being side by side


b)	the black wires of P8 and P9 being side by side


c)	the white wires of P8 and P9 being side by side


d)	The orange wirees of P8 and P9 being side by side





Chapter 2: PC Hardware


11)	The key to replacing a microprocessor is to _____.


a)	align the notch in the chip with the notch in the socket


b)	make sure to orient the writing on the top of the chip with that of the previous processor


c)	find pin 1 of the microprocessor, and orient it to the #1 printed on the circuit board


d)	look for the arrow on the chip, and align it with the arrow on the pc board


12)	Another name for the VESA bus is _____.


a)	the V pipe


b)	the VL bus


c)	the Virtual Extension Service Access bus


d)	the Vertical Evolution Sensitive Architecture bus


13)	The ______ bus was featured in IBM's proprietary PS/2 line of personal computers.


a)	EISA


b)	MCA


c)	ISA


d)	PCI


14)	Which of the following functions can be served by a Type 1 PCMCIA card?


a)	Memory expansion functions


b)	Serial port functions


c)	Parallel port functions


d)	Game port functions


15)	A Type I PCMCIA card is __________ thick.


a)	3.3 mm


b)	5.0 mm


c)	7.5 mm


d)	10.5 mm


16)	Monitors derive their voltage source from the system's power supply.


a)	True


b)	False


17)	On a typical US, 120 Vac, 3-prong power outlet, the smaller slot is the "hot" or "phase" side side of the connection.


a)	True


b)	False


18)	Which component in the figure supplies power to the rest of the system?


a)	F


b)	D


c)	E


d)	A


19)	Most Pentium system boards use which combination of extension bus types?


a)	VESA and PCI


b)	ISA and MCA


c)	ISA and VESA


d)	ISA and PCI


20)	When the system is reset using Control-Alt-Delete, _____________.


a)	the POST test is run immediately


b)	the POST test is not executed


c)	an abbreviated version of the POST is run


d)	the POST is run in the background





Chapter 3: Operating Systems


21)	Which file is not required to boot the system using IBM DOS?


a)	IO.SYS


b)	IBMIO.SYS


c)	IBMDOS.SYS


d)	COMMAND.COM


22)	A _____ is the DOS method of organizing files into directories and sub-directories.


a)	directory tree


b)	file allocation table


c)	source code


d)	utility


23)	The ANSI.SYS file supports _____.


a)	printer files


b)	display graphics


c)	hard disk allocation


d)	floppy disk storage


24)	During bootup, which software or firmware routine is executed second?


a)	BIOS


b)	CMOS


c)	CONFIG.SYS


d)	AUTOEXEC.BAT


25)	Pressing the PAUSE key on the keyboard will _____.


a)	cause the system to stop for 10 seconds


b)	cause the system to stop until a system reset signal is received


c)	cause the system to stop for 30 seconds


d)	cause the system to stop until a key entry is made


26)	_____ are allocated memory areas reserved for file and data transfer.


a)	Clusters


b)	Segments


c)	FRUs


d)	Buffers


27)	Which of the following file types cannot be run from the DOS prompt?


a)	.BAT


b)	.EXE


c)	.RUN


d)	.COM


28)	The AUTOEXEC.BAT file is a form of memory-resident program.


a)	True


b)	False


29)	The DOS _____ command removes a directory, and all of the files under it.


a)	DEL


b)	ERASE


c)	RD


d)	DELTREE


30)	Which of the following is not a DOS filter?


a)	FIND


b)	MORE


c)	SORT


d)	VER


31)	Basic instructions for communication between the microprocessor and the I/O devices are located in _____.


a)	CMOS


b)	the bootstrap loader program


c)	DOS


d)	the BIOS


32)	Which of the following programs is not a memory manager?


a)	MEMMAKER.EXE


b)	HIMEM.SYS


c)	EMM386.EXE


d)	LIM EMS 4.0


33)	Which program causes the system to load the COMMAND.COM file into the system?


a)	The POST program


b)	The IO.SYS program


c)	The BIOS program


d)	DOS.SYS


34)	Which DOS command can be used to rename files without leaving the original name?


a)	COPY


b)	MOVE


c)	REN


d)	CHG





Chapter 4: Microsoft Windows


35)	Which of the following DOS files do not affect Windows performance?


a)	AUTOEXEC.BAT


b)	CONFIG.SYS


c)	The Windows kernel


d)	SYS.EXE


36)	Which Windows option provides the best Virtual Memory performance?


a)	A temporary swap file


b)	A permanent swap file


c)	A RAM disk operation


d)	A virtual disk operation


37)	Windows .DLL files are executable code modules.


a)	True


b)	False


38)	A core component of the Windows structure is _____.


a)	GDI.EXE


b)	SYSTEM.INI


c)	CONTROL.INI


d)	PROGMAN.INI


39)	To change the Windows swap file setting, you would look under ________.


a)	the Swap File option under the Setup window


b)	the Virtual Memory option under the Control Panel's 386 Enhanced Icon


c)	the "About Windows" entry of the HELP menu


d)	the [Swap File] listing of the WIN.INI file


40)	Running DOS in a Windows window is more resource intensive than running it in full-screen mode.


a)	True


b)	False


41)	_____ installs a shared copy of Windows on networked PCs.


a)	SETUP/A


b)	SETUP/I


c)	INSTALL/A


d)	INSTALL/I


42)	The same Windows icon can be reused throughout the system, and even within the same window.


a)	True


b)	False


43)	Which of the following files cannot be modified using the DOS System Edit function?


a)	SYSTEM.INI


b)	WIN.INI


c)	GDI.EXE


d)	CONFIG.SYS


44)	Windows can be installed without regard to TSR programs that have previously been installed.


a)	True


b)	False


45)	Windows can be configured to run multitasking operations while DOS programs are active in the background.


a)	True


b)	False





Chapter 5: Troubleshooting the System


46)	FDISK and CHKDSK/F are normally run from a DOS session window.


a)	True


b)	False


47)	A voltmeter should be connected _____.


a)	in series with the item being checked


b)	in line with the item being checked


c)	in parallel with the item being checked


d)	in place of the item being checked


48)	The most frequent problems encountered with PCs occur _____.


a)	on the system board


b)	with hard drives


c)	in peripheral cards


d)	in software and configuration settings


49)	When using a voltmeter to make tests in a live circuit, you should _____.


a)	set the range to the highest possible setting


b)	set the range to the lowest possible setting


c)	remove power from the unit under test


d)	disconnect one side of the test circuit from the other


50)	What system component can cause problems to appear in all of the system's other components?


a)	The system board


b)	The expansion slots


c)	The power supply


d)	The hard-disk drive


51)	If a diagnostic program indicates that three items should be replaced, how should the information be applied?


a)	Replace all three items, and return the unit to the customer.


b)	Replace each item, and test the unit until the bad component is located.


c)	Replace the components one at a time until the system starts, reinstall the previously removed good components, and deliver the unit to the customer.


d)	Remove all three of the items, and test them in a known good unit.


52)	Which DOS utility is valuable in locating IRQ conflicts?


a)	Debug


b)	Defrag


c)	MSD


d)	Dr. Watson


53)	After replacing the battery on the PC's system board, you should __________.


a)	reset the CPU


b)	turn the system on so that the battery can charge up


c)	run SETUP to set the time and date


d)	reinstall DOS in the system


54)	The term TSR stands for _____.


a)	Terminate and Stay Ready


b)	Terminate and Stay Resident


c)	Transfer Service Request


d)	Transmitter Sending Resource


55)	A multimeter is a valuable parity error-checking device.


a)	True


b)	False


56)	When checking the power supply unit with a digital multimeter, it should be set to _____.


a)	dc current


b)	dc voltage


c)	ac current


d)	ac voltage





Chapter 6: System Boards


57)	Which microprocessor listed does not contain an on-board math coprocessor?


a)	An 80486SX


b)	An 80486DX


c)	A Pentium


d)	A Pentium Pro


58)	An XT-compatible system has ______ DMA channels.


a)	2


b)	4


c)	8


d)	16


59)	IRQ 7 is generally assigned to _______.


a)	COM 1


b)	COM 2


c)	LPT 1


d)	LPT 2


60)	Typical computer clock speeds are specified in _____.


a)	Megahertz (MHz)


b)	Kilohertz (kHz)


c)	Nanohertz (nHz)


d)	Hertz (Hz)


61)	If a PC will not maintain the time and date after replacing the system board battery, what should be considered next?


a)	The power supply


b)	The system board


c)	The front panel connections


d)	The battery connectors


62)	In a Pentium II-based system board, the L2 cache would be located _____.


a)	on an expansion card


b)	in the microprocessor cartridge


c)	on the system board


d)	on the microprocessor


63)	What system structure contains the PC's time, date and configuration information?


a)	The ROM BIOS


b)	The CMOS RAM


c)	The RAMDAC


d)	The Upper Memory Block (UMB)


64)	In a Pentium Pro-based system board, the L2 cache would be located _____.


a)	on an expansion card


b)	in the microprocessor cartridge


c)	on the system board


d)	on the microprocessor


65)	A hard-disk file that acts like RAM is called _____.


a)	disk caching


b)	a RAM disk


c)	virtual memory


d)	a virtual disk


66)	Cache memory is used to _____.


a)	increase the speed of data accesses


b)	increase the size of memory available to programs


c)	store data in non-volatile memory


d)	augment the memory used for the operating system kernel


67)	A Pentium processor normally uses a case style like the one depicted in part _____ of the figure.


a)	A


b)	B


c)	C


d)	None





Chapter 7: Input/Output


68)	An input device that detects a passing electron beam from the face of a CRT display is _____.


a)	a light pen


b)	an infrared sensor


c)	an ultraviolet sensor


d)	an optical pyrometer


69)	Which of the devices in the figure would normally be connected to a parallel port?


a)	L


b)	F


c)	B


d)	M


70)	To check an active, 5-pin, DIN keyboard connector with a voltmeter, the ground lead should be placed in the pin ____ socket.


a)	1


b)	2


c)	3


d)	4


e)	5


71)	I/O addresses and serial ports are one and the same.


a)	True


b)	False


72)	Serial ports transmit data _____.


a)	one bit at a time


b)	one byte at a time


c)	when a clock pulse is applied to them


d)	in one direction only


73)	Windows will only support mice on _____.


a)	COM 1 and COM 3


b)	COM 2 and COM 3


c)	COM 1 and COM 2


d)	COM 1 and COM 4


74)	The recommended maximum length of an RS-232 serial connection is __________.


a)	10 feet


b)	25 feet


c)	50 feet


d)	100 feet


75)	The LPT 1 parallel printer port is normally assigned to _____.


a)	IRQ 1


b)	IRQ 5


c)	IRQ 6


d)	IRQ 7


76)	Modern keyboards are bidirectional I/O devices.


a)	True


b)	False


77)	If the POST program returns a 301 error code to the screen, then an error has been detected with ___________.


a)	the keyboard


b)	the floppy-disk drive


c)	the video display


d)	extended memory


78)	_____ transmissions are conducted at irregular intervals, using start, stop and parity bits.


a)	Serial


b)	Parallel


c)	Synchronous


d)	Asynchronous


79)	Debouncing refers to _____.


a)	stabilizing a shaky CRT video display


b)	removing electrical spikes generated by pressing and releasing keyboard switches


c)	removing electrical spikes generated by power line surges


d)	removing electrical spikes created when the computer is turned on or off


80)	The color of the light source in a greyscale scanner is important to the operation of the unit.


a)	True


b)	False


81)	Which data transmission method is faster over a given period of time?


a)	Centronics parallel


b)	Synchronous


c)	Asynchronous


d)	Fiber optic





Chapter 8: Magnetic Storage


82)	In DOS, a typical hard drive sector is _____ bytes long.


a)	256


b)	512


c)	1024


d)	2048


83)	How many logical drives can be created using DOS?


a)	8


b)	23


c)	38


d)	44


84)	DOS 3.x supports a maximum disk partition of _____.


a)	1 MB


b)	32 MB


c)	640 kB


d)	560 MB


85)	When installing an IDE drive in a system, which of the following jumper settings do not apply?


a)	Single


b)	Slave


c)	Master


d)	Terminal


86)	What DOS command should be run it an "Invalid Media Type" message is encountered after replacing a hard drive?


a)	DEFRAG


b)	SCANDISK


c)	CHKDSK


d)	FDISK


87)	In most PC-compatible systems, drive A and drive B are logically separated by _____.


a)	a group of twisted wires in the signal cable


b)	the drive select jumper


c)	the controller card setup


d)	the location of the drive in the drive bay


88)	A collection of sectors on a disk may be referred to as clusters, or allocation units.


a)	True


b)	False


89)	A hard-disk drive should always be backed up, if possible, before replacing it.


a)	True


b)	False


90)	Which option is not true concerning SCSI controller identifiers?


a)	Identifier 1 is reserved for the controller.


b)	Identifier 0 is reserved for the first (primary) hard drive.


c)	Identifier 1 or 2 should be used for a CD ROM drive.


d)	Identifier 7 is reserved for the controller.


91)	The second thing to do after installing a new SCSI hard drive in a system is to _____.


a)	low-level format it


b)	load DOS on it


c)	partition it


d)	run SETUP to configure the drive


92)	Which of the physical devices in the figure could be configured at act like several logical devices?


a)	G


b)	D


c)	E


d)	F





Chapter 9: Video Displays


93)	A video display that paints a complete picture on the screen in a single pass is called _____.


a)	an LCD display


b)	an interlaced display


c)	a non-interlaced display


d)	a gas plasma display


94)	An audible beep code including one long and two short beeps during the bootup sequence indicates ___________.


a)	that there is a possible video controller problem


b)	that there is a possible floppy controller problem


c)	that there is a possible hard drive controller problem


d)	that there is a possible keyboard problem


95)	PC-compatibles use a _____ connector for the VGA video function.


a)	9-pin, female


b)	15-pin, male


c)	15-pin, female


d)	25-pin, male


96)	Which video standard is superior to the others listed?


a)	VGA


b)	SVGA


c)	XGA


d)	S3TV


97)	Using a VGA card in text mode, the normal character line format is _____.


a)	40x20


b)	10x9


c)	80x25


d)	8x9


98)	A .28 dot pitch monitor has _____.


a)	.28 inches between dots on the screen


b)	.28 mm between dots on the screen


c)	.28 inches between characters on the screen


d)	.28 mm between characters on the screen


99)	What is indicated by the presence of a raster on the monitor, if the signal cable is removed from the video adapter card?


a)	A monitor problem exists.


b)	A system problem exists.


c)	The monitor's power cable is not receiving any power.


d)	The signal cable is bad.


100)	Which term is not correct to describe a dot of information produced by a color monitor?


a)	A PEL


b)	A pixel


c)	A triad


d)	A picture element


101)	The maximum resolution of an SVGA monitor is _____.


a)	640x480 in 16-color mode


b)	640x350 in 16-color mode


c)	800x600 in 16-color mode


d)	1024x768 in 16-color mode


102)	Indicate which item must be discharged before handling the CRT tube.


a)	B


b)	C


c)	D


d)	all





Chapter 10: Printers


103)	A raster font is _____.


a)	stored as a bitmap


b)	stored as a mathematical model


c)	stored as a vector


d)	stored as a compressed file


104)	The best way to insure good resolution when using an ink-jet printer _____.


a)	use the best-quality paper available


b)	use fresh ink cartridges


c)	use only the black color function to print


d)	use high-resolution cartridges


105)	Paper jams are most likely to occur in which laser-jet operation?


a)	Paper pickup


b)	Cooling


c)	Fusing


d)	Registration


106)	The primary corona (conditioning roller) of a laser-jet printer _____.


a)	transfers toner to the paper


b)	applies a uniform negative charge to the drum


c)	presses toner into the paper


d)	transfers characters to the paper


107)	Which is not a common pin configuration for a dot-matrix printhead?


a)	9-pin


b)	12-pin


c)	18-pin


d)	24-pin


108)	Which of the following is true of laser printers?


a)	Laser printers should not be used as network printers.


b)	Laser printers should not be used as local printers.


c)	Laser printers should not be used with switch boxes.


d)	Laser printers should not be used as graphics printers.


109)	In a laser printer, a positive charge on the transfer corona wire causes _____.


a)	the positive image to appear on the print drum


b)	the toner to be transferred from the drum to the paper


c)	the excess toner to be dislodged from the drum after printing


d)	the negative image to appear on the print drum


110)	Which component of a laser printer transfers toner to the paper?


a)	The drum


b)	The corona wire


c)	The fuser assemably


d)	The platen


111)	How often should the platen assembly of a dot matrix printer be lubricated?


a)	Monthly


b)	Annually


c)	Never


d)	Quarterly


112)	The drum of a laser printer is not sensitive to ordinary light.


a)	True


b)	False


113)	Select the item in the figure that is responsible for moving paper through the printer.


a)	K


b)	N


c)	O


d)	H





Chapter 11: Data Communications


114)	Which part of the figure shows a peer-to-peer network scheme?


a)	A


b)	B


c)	C


d)	None


115)	If an external high-speed modem is not working up to its full potential, what item should be checked first?


a)	Check the capabilities of the UART used in the serial port.


b)	Check the modem configuration documentation.


c)	Check the line speed of the telephone system.


d)	Switch the modem to the other COM port setting, and test it.


116)	Which system can be classified as a BUS topology?


a)	Ethernet


b)	Arcnet


c)	Token Ring


d)	Fibre Link


117)	Fiber optic cable generates EMI radiation.


a)	True


b)	False


118)	A modem that conducts communication in only one direction at a time is called _____.


a)	a simplex modem


b)	a full-duplex modem


c)	a half-duplex modem


d)	a full-simplex modem


119)	In a client/server network, _____.


a)	at least one unit is reserved just to serve the other units


b)	at least one unit depends on the other units for its information


c)	each unit has its own information, and can serve as either client or server


d)	each unit handles some information for the network


120)	How many computers are required to implement a true LAN?


a)	1


b)	2


c)	3


d)	4


121)	In the Hayes-compatible modem command set, ATZ is _____.


a)	a software reset command


b)	a hardware reset command


c)	an off-hook command


d)	an on-line command


122)	An RJ-45 connector is most commonly used with _____.


a)	disk drive units


b)	fiber optic cabling


c)	coaxial cabling


d)	unshielded twisted pair cabling


123)	In a token Ring LAN environment, _____.


a)	the token is passed counterclockwise around the ring


b)	the token is passed clockwise around the ring


c)	the token is passed to the station that has the highest priority level on the ring


d)	the master station holds the token until a more-powerful station demands it


124)	A local digital loopback test verifies the TX and RX lines of the remote modem, as well as the telephone line between modems.


a)	True


b)	False


125)	A device that can modulate an outgoing data signal for a telephone line and demodulate an incoming data signal is called _____.


a)	a PBX


b)	a multiplexer


c)	a transceiver


d)	a modem


126)	The definition of the RTS pin in an RS-232 modem connection is _____.


a)	Return To Sender


b)	Request To Survey data


c)	Reverse The Series


d)	Request To Send





Chapter 12: Multimedia


127)	Eight-bit sound cards can produce ______ tones.


a)	8


b)	64


c)	256


d)	64k


128)	The MSCDEX.EXE command allows DOS to access a CD-ROM drive.


a)	True


b)	False


129)	The most popular sound format for professional musicians is _____.


a)	WAV


b)	MIDI


c)	AVI


d)	FIF


130)	The _____ specification allows Windows-based computers to control external multimedia devices.


a)	Audio Visual Interface


b)	Media Player Interface


c)	Media Control Interface


d)	Musical Instrument Digital Interface


131)	When dealing with a sound file, an extension of ________ is used.


a)	.SND


b)	.AVI


c)	.WAV


d)	.MUS


132)	A/an _____ type of hard drive is recommended for use with full-motion video, due to the fast access times associated with them.


a)	MFM


b)	IDE


c)	EDSI


d)	SCSI


133)	The driver normally associated with a CD-ROM drive is _____.


a)	CDDRIVE.COM


b)	MSCDEX.EXE


c)	CDX.EXE


d)	CDROM.EXE


134)	One of the most popular file formats for digitized video is _____.


a)	.AVI


b)	.WAV


c)	.RTF


d)	.RIF


135)	The MSCDEX.EXE command assigns a logical drive letter to a CD-ROM drive.


a)	True


b)	False


136)	Select the item that would be affected by a bad MSCDEX statement in the CONFIG.SYS file.


a)	A


b)	B


c)	G


d)	D


137)	The most effective grounding system for a microcomputer is _____.


a)	an ESD wrist or ankle strap


b)	the safety ground plug at a commercial ac receptacle


c)	the ground plane of the system board


d)	the chassis ground provided by the brass standoff(s)


138)	MSAV.EXE and MWAV.EXE perform the same function.


a)	True


b)	False





Chapter 13: Preventive Maintenance and Safety


139)	Which item is best suited for general cleaning of monitors?


a)	An antistatic spray


b)	A common flower mister


c)	A glass cleaner


d)	A damp cloth


140)	When fragmented file chains are discovered on a hard drive, which DOS command should be used?


a)	DEFRAG


b)	SCANDISK


c)	CHKDSK


d)	FDISK


141)	The most dangerous areas inside a CRT display are _____ and _____.


a)	C, E


b)	C, B


c)	A, E


d)	C, A


142)	Which type of IC device is most likely to be damaged by ESD?


a)	TTL


b)	IIL


c)	CMOS


d)	CML


143)	Which of the following is more likely to cause serious damage to a computer system?


a)	ESD


b)	EMI


c)	RFI


d)	A power sag


144)	A short overvoltage occurrence (nanoseconds) is called _____.


a)	a spike


b)	a surge


c)	a brownout


d)	a sag


145)	An ESD wrist strap should always be worn when working on a PC.


a)	True


b)	False


146)	Most computer viruses ultimately affect the system's CMOS.


a)	True


b)	False


147)	Which of the following presents the least likely cause of computer virus infections?


a)	Shareware programs


b)	Bulletin board software


c)	User copied software


d)	Shrink-wrapped original software


148)	_____ rearranges non-contiguous files into more-efficient contiguous files.


a)	DEFRAG


b)	SCANDISK


c)	CHKDSK


d)	FDISK
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